Unit 1 Take Home and Check Name

Write an integer to represent
each description,

1) 2 units to the right on a

nuimber line, + i
2) Aloss of $31,907 on an -
investment, 3l ! Q0%
3) The stock market went
up 299 points today. + 299
4} 6° below zero. = {p

5) 11 units to the left of 12
on the number line.

You go the ~!l from
-ﬂ*ll/ 1 gou end up at 1L

Put the integers in order from
least to greatest.

6) 49,-22,45,-14, 13, -35,
34, -5, -6

-38, 22, aw,-ols,m b,-5,34,
ys, 49

7) -7,3.5,-3.4,-3.5,-8,

_2l 35
2

=%, %= 3.5, -3.4 - 2% .35,
3.5




Unit 1 Take Home and Check

|

Solve. - Evens all

g) 88+ (-6)+18
0) 3220 - 29 - 43 - (-18)
10)  (4)*(-47)
11) -40+(-8)
12)  (-11)(30)
43) 15+ (-9)
14)  -49 + (-43) * (70)
15) (411
16) -48-19.9
17) -13.6+4

18) 12.2-9-(-15)

W 19) 72+0
20) -12(-8)
. 9
Al 2
~ 54
22)

23)  (-3)(-2(B)-3)(1)
24) 46-(-8)

25) 3(-18)
312

-16
-4

26

S

27)

Name o

¢) 50
9) -5l
10) - 48
1) 5
12) - %30
1) -
) =162
18) - 4
1) - L*9
1#)-9.b
1§) 18-2 (
19) undefined) cannot = by ©
26) Qb

21) undefined ) cannot + by O

22) ~1$

73) "~ 240
) 54
25) - 54

av) |- 3|~ |- 23

3~ a2 =

at) 4 ( |




Unit 1 Take Home and Check Name

Write €, » or =
28) 20 -10 25) 0[]
20) -40-40____-20-38 aq) -50 <] -58
|-32 4+ ab)] — lr;@l
30) |-32-(-26) |-31+41 I~ . [10
| | | z [£] 10
) Bl s 5[E] B
32) |-5+3___[7-(-42) ]mglw IELY,
a [=149
Fill in this equation with your own Answers may vary

negative and positive numbers.
19~ 5+F ~(-2)=~I4

33) neg #- pos #+ pos #-
neg #=-14

Show an addition or
subtraction equation and then "
solve. «3 "’{ 4 9~5 L

34) Certain mites that live in the
arctic thrive at an average
temperature of -34° C. They
also do well at temperatures
of up to 25°C. What s the
temperature range
acceptable to these arctic
mites?
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35}In golf, the average score a
good player should be able
to achieve is called “par.”
Par for a whole course is
calculated by adding up the
par scores for each hole.
Scores in golf are often
expressed at some number
either greater than or less
than par. Mrs, Musto is
having a pretty good day at

the Medfield Town Golf Club.

Her score so far after 15
holes is -3. If par for 15
holes is 65, what is her
score?

5) b5 -5e [62]

36) My daughter started the
week with $75 in her bank
account. On Monday, she
bought gas for $23, on
Wednesday she deposited
her pay check for $68, on
Thursday she bought a new
sweater for $49 and on
Friday she went out for
dinner and spent $19 from
her account. How much
money is left in her acct ?

26 2%+ (bF~49~19=

52 —+ &~ 49-19 =
/20 -~ 49~ |19 =
Fl =19 =

BN
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Tell the absolute value of:

379 3t) 5
3%) 50
38) [56|
0
39) 0] #)
40) |- 1| kio) !
Tell the opposite of:
41)9 Y1) -q
42)-6 &;Q_) (g
43)-15 &H) 15
44)0
) 44) ©
45)Show the set of natural
nu;ber;s Pt L{ss) . l? 21B,00e

46)Show the set of whole
numbers

47)Show the set of integers.

48)Plot the following integers on
a number line: -8 and 5.

49) Plot the following integers on
a number line: -63, -65.

Y) 0,1,2,3,...
‘“}?) 99&,“3’“9”“1)0}’)2’3Jeo

!7' e T O N S -
ﬁ-gwq,otg"gﬂi"g *A=1 0 1 2 3 ¢

49)




Unit 1 Take Home and Check Name

Place an addition or subtraction
symbol In each space 80 that the
expression on the left equals the
expression on the right.

50)3___-3=5__ 1
51)-7___3=-2 -2

52)-16___-2=20___-37

53)-9 -3 -10 =
12 -8

54)-3 8 -4 =

50) 3 - (3)= 54 |
5) -7 +3 = "2+ 7L
53) ~15+(R) = (3D

58) - q - (~3) = (-10)7 124 (~8)

54) 34 @-(-4) = F13

Evaluate each expression. Use
the values p=4,n=6,ands=2
55)
56) 7Tn
57)-6.1p
58)8s ~6

59)6-s

60)1.5(p+n)

59 5~2 = [3

o) 1.5 (H+ b)=
LsCro) s !
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Solve and show all the steps.

61) 9+ 6x(8—5)

Q46 « (8-5)
1) 9tlex 3
Gt 15 =[27]

62) 4-+4—24 +24

b2 H+H~ad+ad
Ht o =1
g -1 =[7]

63) 5X7-6+2+3

2) 5x F-l+2+3
38 =+ 1 + 3
35-3 43
32 + 3

[35]

64) (14-5)+(9—-6)

L) (14-5) = (9-1,)
q = 3
[3]
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85) 52—-4-3+12

65 )

5ga%-5%l&
A5 ~ &)
AB - |

]

66) 104 3%24+(1~-2)'5

L) 10+ 3%+ (H~2)5
0+9 + A -5
jo+9 + 10
19+ 10

[29]

67) 5X8+6+6-12%2

b?) 5x8 +lb+lb ~12x2
4o + o + b ~12.x L

Ho + | ~1ax &
o+ = 24

H| -

36—-3X 4
68) ——
15-9+3

L§)  Blo-3xH _
15-9+3

36b-1a _

P i il

[5-3

.
ja

2]




Unit 1 Take Home 2nd Check Name

v (§ x2)= 37+ (5x2)

- + (B
¢ 69) (B8x2)—- 324 (5x2) ugllaﬁqé *CIO )
F 410 = | % I
Find the square root. No
A, B calculator.
70)VZ56 7) Jast = [iu]
71) V100 1) Ji0o = ZIO!
Find the square root, You may
A:%] use acalc%lator.

72) V586

73) V1024

72) [530 = 24.2

23) {10041 = 32




Unit 1 Take Home and Check Name

| P

AB
Whole section: 75 - 79

Place a check in the circle of the set or seis
to which the number belongs.

75) O HNatural
O Whole
O Integer

-6 O Rational
O irrational
O Real

76) O Natuvel
O Whole
(O nteger

8 O Ratlonal
O Irrational
O Real

| | \
77) 8::::]::] : r&ﬁ@ﬂ@'
. S | ré6l
O irationdl .
O Real

78) O Naturat
o Whole
(O Integer

B O rotionat
O Ireational
O Real
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9) O Natural
O Whole
O Integer
O Rational
O lrrationsa!
O Real

ik

Show your formuia and substitutions to

solve:
A. 5| 80) An airplane flies 3360 km in
’ 4 hours. What s its average speed in
kilometers per hour?
(
B | 81) An airplane flies with a constant

speed of 600 km/h. How far can it
— fravel in 240 minutes?

A, B 82) A car drives with a constant
speed of 56 km/h. How long will it
——  take {0 travel a distance of

224 kilometers?







